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m I U S Which answer is the same
expression as this
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Which answer is the same
expression as this

(m—8)(b—3)

Ab—3b+ 24m + 8 Bb—3m — 24 — mb
b —8b—3m—24 b1 24b—3m + 8
€b+ 8b—3m - 24 b + 8b + 3m — 24

Which answer is the same expression as this

(r + 4)(b—2)

a  pbh-4b-2r+8 b yp-2v18r+4
rb+4b—2r—8 d 4b—2r—8—17rb
e rb+8b—2r + 4 f rb—4b+2r—8
6
Which answer is the same _
expression as this (m —|_ 7)(d 7)

Ad+7d—Tm —498d —7d + Tm — 49
Cod—T7d + 49m + 7 d —7d — Tm —+ 49
?nd—|—49d—7m—|—7f7d—7m—49—md

Name:

(z—8)(y +9)

azy—8y+92—72 bzy+8y—9z—72
c8y—92—72—zy dzy—8y—9,z+72
ezy+72y—9z+8 fzy—9y+72z+8
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Which answer is the same
expression as this

(m=7)(z=7)

?nz+7z—|—7m—491bnz—|—492—7m—|—7
%zz—?z+49m+7c}z—7m—49—mz
?nz-?z-7m—49;nz+7,z—7m+49
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Which answer is the same
expression as this

(p+7)(b+5)

Db+ 5b+12p+7 b+ 126+ 5p 4 7
b+ Tb+5p-+35 Db+35b+5p+7
b+ 5b -+ 35p + 7 Tpb+ 7b + 5p + 35
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Which answer is the same
expression as this

(2 +9)(p—3)

azp+9p—3z—27 b9p—3z—27—zp
czp—9p+3z—27 dzp—3p—|—27z—|—9
ezp+27p—3z+9 1‘zp—9p—3z+27
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